
可変抵抗器 (1)� �
Y=begin{emCircuit}[ul=10mm,Yohaku=1em]%

(0,4)(0,2.5)

Y=tenretu*{A(0,0);B(4,0);C(4,2.5);%

D(0,2.5)}

Y=Takakkei{Y=AY=BY=CY=D}

Y=Putparts{battery}Y=BY=A

Y=Putparts%

<partsoption={type=variable}>%

{resistor}Y=DY=C

Y=end{emCircuit}
� �

→

可変抵抗器 (2)� �
Y=begin{emCircuit}[ul=10mm,Yohaku=1em]%

(0,4)(0,2.5)

Y=tenretu*{A(0,0);B(4,0);C(4,2.5);%

D(2,2.5);E(2,2);F(0,2)}

Y=Takakkei{Y=AY=BY=CY=DY=EY=F}

Y=Putparts{battery}Y=BY=A

Y=Putparts<pos=1>{resistor}Y=FY=E

Y=ArrowLineY=DY=resT

Y=end{emCircuit}
� �

→


